Rt Agad g 0" $o7 43 mEpREE

#Ex+ ME iy 2-10 oo BB 102~ 11 ~ 28
=~ 2FER L (20%)
F%A(xl, yi) > B (xz, y2) £ L Ff F’Eﬁ |
(DL R Eim= ( ) A :'%@:
2. PRI R UAHZL L axdtby+e=0 [ L A=
3. %ﬁxﬁl@lﬁhg\ (ZEf 5&4‘:@4 SO Ly Ly VRIESTHIES mpoomy o Fff
(1) L1//|—2 S ° (2) LlL L2 S My M= o
4. [BHFEZEL  (x—h) 2+ (y—k) 2=r* > ]| : () EL = o (2) F @ =
5. [ C:x’+y*+dx+ey+f=0 > [ : (D)= o ()4 i@ =
6. “IHIRTP (X0, yo) Jrast L - ax+by+c=0 FlIE P Afast L pufesd (P, L)=
AT A $HRR A
SRS S 1 2 3 4 5 6 7 8 9 (10 | 11 (12 [ 13 | 14 |15 [ 16 | 17 | 18 | 19 | 20
(A 8 | 16 | 24 | 32 | 38 | 44 | 49 | 54 | 59 | 63 | 66 | 68 | 70 | 72 | T4 |76 | 77 | 78 | 79 | 80
=~ AR E(80%) ¢
Yy
1. ‘F,q%\'HI ’ F%EI%QLAB ~ BC -~ CD - DE ~ EAFVAR[S 55 [JEEmy ~ mz ~ m3 ~ my ~ ms > B
E:—f@,blqm\m\m\m\m'[fj—k": A Cx
F=gefmy ~ my ~ m3 ~ my ~ msf | 5
2. SFEEREA (—103)0 B (4> —5) i = g EY——"p
3. [ C:(x—1+(y+2)°=5" [l : (DEt-== o (2)F =
A NI A A
(L) SEBE(-12), OI)FIRII= * B0, %3¢3-4H“®$&=
(3) XEHFEL — 3 2 yEEREE 5 V= o (A)H]F F’r— ’yé?i%j&@ 1 pupist=

(5) SEERI23) & A Sx - 2y = 1 = [l as=

(6) HEI2.3) S A 2x - 3y =7 T i =
5. A(a,3), B(L,1), C(-2,-1) 13 o b= B,

(1):?[/6\, B, C _:%!F[f[\asg'\, fra= o (Z)jﬁﬁj_ﬁ , Thals I'Til:
6. =l Ly 3x+(Kk+1)y=3" Lyt kx+dy=—4>F L/l Lo fl k=
7. TIA@2, - 3), B(—4 1) & &’ﬁu B R =

8. 3 P(2, 3) [HE C:x’+y"—8x+6y=0 [yl » “IHIEL A B [ B PA=
9:uay?+f+2x+2y+k:039@m“ﬁ—E“ ekp R =
10. FAniC - X+ (y—2)°=9 =IHIPHEIC F— N AG.4), AP U] fifi =
11 B L x—2y+k=0 [ C: X4y’ =1:% L = C FERASARE PRl JIl ksl

12, =I5 C: x*+y*—6x+2y—15=0 *— RCA(—L, 2) Tl A RETEERD C AR s

X+y=>4
o ) e |3X+Y 26 . ., i
13. =13, iRl gst 2 x>oy » o 2 ypu ] =
y>0

Lo fll Lot oG




